>
A & 0l & AF 2 E A A
20229 &= =0l A LB A Ol L KT 2t
A0l X2t
M fUXEE dHHS
SRl MLT BH O, 2Y CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ofl LA X1 2 12,463,980 14,243,106 21,779,126
= 1,363,946
< 3,851,787
Al 7,248,247
HUHX&EE dHUS 154,800 0 154,800
WX 22 0|8, 2 4,800 0 4,800
JI=20 HEaUXdE NLHRE A RE3 3,000 0 3,000
201 Let2d] 3,000 0 3,000
02 2324l 3,000 0 3,000
JIZRAJIUHE, MU XNESXLERE 3 A 3,000
XX HE ==& (XHA) 1,800 0 1,800
201 Let24d] 1,800 0 1,800
01 At 22/l 1,800 0 1,800
HUXl 223 /AF = 1,800
Y22 HUX A& 150,000 0 150,000
dOZ2 MEda RE= 150,000 0 150,000
308 XM SOIH 150,000 0 150,000
07 IXNHMARSE = 150,000 0 150,000
SEEE ZAZR2 ME I3 RES 150,000
Ol &4y E4 5,393,000 500,000 4,893,000
= 2,685,500
Al 2,707,500
OlchHE RLelEl AMEeIEIE 2= 5,371,000 500,000 4,871,000
= 2,685,500
Al 2,685,500
Nsx SYMEAH =4 A 5,371,000 500,000 4,871,000
< 2,685,500
Al 2,685,500
401 A& HIZ 201 I 3,871,000 500,000 3,371,000
< 1,935,500
Al 1,935,500
01 A& HI 2,927,000 500,000 2,427,000
S EHE MEZ A 2,927,000
= 1,463,500
Al 1,463,500
02 2eltl 800,000 0 800,000
SEHH MA=E3 A Zeltl 800,000
= 400,000
Al 400,000
03 Al 2 THHI 144,000 0 144,000
FEdE M= A R0 144,000
< 72,000
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72,000

402 212t Xt=01&

= M

1,500,000

750,000
750,000

1,500,000
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Al

1,500,000
1,500,000

750,000
750,000

1,500,000
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22,000

22,000
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22,000

22,000

401 AIEHIZ 2 I

22,000

22,000

01 A& dl

NEBUE 25 245018 89

22,000
22,000

22,000

HuXl=s2d & S8

=z M H

6,396,114
1,363,946
1,166,287
3,865,881

5,500,650

895,464

AL THENUX 22

=z N H

3,153,914
1,363,946

406,087
1,383,881

3,018,650

135,264
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Al

360,000

200,000
160,000

360,000

402 QI2tXt=01 &

H

Al

360,000
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160,000

360,000
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0
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H

Al

360,000

360,000

200,000
160,000

360,000

SAIASESAE X4 X

H

Al

138,333

41,500
96,833

128,600

9,733

402 QIZ2tXt=01 &

H

Al

138,333

41,500
96,833

128,600

9,733

03 212+l
J

=

138,333
138,333

41,500
96,833

128,600

9,733

= Hn

2,029,261

1,120,786
204,587
703,888

1,382,050

647,211
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L= B

el
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AL THEHMUR 25

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

402 212t Xt=01&

= N H

2,029,261
1,120,786
204,587
703,888

1,382,050

647,211

03 212+

= HmnH

2,029,261
2,029,261

1,120,786
204,587
703,888

1,382,050

647,211

LPGE DIl AFEJtT AIEH S ALY

H

Al

20,000

10,000
10,000

20,000

403 A X EHS K= 0l A

H

Al

20,000

10,000
10,000

20,000

H

Al

20,000
20,000

10,000
10,000

20,000

t

Al

540,000

160,000
380,000

540,000

f

Al

540,000

160,000
380,000

540,000

= H

540,000
540,000

160,000
380,000

540,000

AITHA O L Xl XIS K& A (2 H])

H

Al

66,320

33,160
33,160

66,320

401 AIEHIZ 2 THHI

H

Al

66,320

33,160
33,160

66,320

01 A& H|
ATHAOI AKX KIS RIRAFS EH 2 200 A (40kW)

H

Al

66,320
66,320

33,160
33,160

66,320

2,472,000

2,472,000

2,472,000

2,472,000

2,472,000

2,472,000

2,472,000
2,472,000

2,472,000
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Off LA X1 2t

HE: fUXS2HE L 2IMM
ot slegEARHIA X (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
StEEMAFTHISA X 770,200 10,000 760,200
< 760,200
Al 10,000
St A AN NYNXEH HESH 2 10,000 10,000 0
201 Let24dH] 10,000 10,000 0
02 8323l 10,000 10,000 0
StEAYEA ATH NS SHEE2AS
2E3 10,000
LPG A8 MEE & 22 X K& 360,000 0 360,000
< 360,000
402 RI2HXt20l ™ 360,000 0 360,000
< 360,000
03 212t & AFS HI 360,000 0 360,000
LPG A8 MEHI & a2t X XA 360,000
< 360,000
EdA HUXNEEH &X129 400,200 0 400,200
= 400,200
403 MHXSHHSA=0l& 400,200 0 400,200
= 400,200
02 SO 2SOCHsH A2 X 2 &AM I 400,200 0 400,200
Ol XIMEH AX 400,200
< 400,200
FHoX Y NFoHE 90,000 345,000 A 255,000
HZXS R 90,000 345,000 A 255,000
HZXS HEIl=a AvS 80,000 335,000 A 255,000
308 XXM S0 A 50,000 0 50,000
08 WEJ|20stE X 50,000 0 50,000
Hetsstn SsStdA 2R 50,000
401 Al BIZ 201 8] 30,000 335,000 A 305,000
01 A& HI 29,676 332,462 A 302,786
H2XS EIEEH & SdO0E XNSHE 29,676
03 AIE 20 HI 324 2,538 N2,214
H2XS elddEd & sd0lE XNSHE 324
dFEZ LU= dHE2s=s NE 10,000 10,000 0
501 X3 10,000 10,000 0
01 RItEXt3 10,000 10,000 0
dFEZ B2 dUHES2 10,000
FAX L XML (2L 22) 374,166 20,000 354,166
HZXSNLIN S ALE AES 22 374,166 20,000 354,166
SAeEegrE2 IR 117,466 0 117,466




A0l X

Ho: oK 2 NAHL (SR BT)
ool HZXINLIIZ A AES el

SN HH-S(BN) - MBAY - B il HlnE2

308 XXM SO0 A 113,066 0 113,066

1137/ 2SoHUHSBHEAEALS I 113,066 0 113,066
SEEIES 2 Al 2E AS A 113,066

403 MtXISHHE X201 & 4,400 0 4,400

02 SO 2SOHeH 2R E A I 4,400 0 4,400
SAetglsat HED, AFH WA 4,400

AJ0IEH0I2 29 X& 256,700 20,000 236,700

308 XX EHH SOl A 248,700 0 248,700

N 3IN2SUHUE3 LS A 248,700 0 248,700
AJ10IHH0I2 AE 2 SIS A 248,700

403 UHXSHHSA=0l& 8,000 0 8,000

02 SO 2SOlCHsH 2 X 2 A I 8,000 0 8,000
2J101H013 ==& CCTV £ X 8,000

HE2HZHI 55,900 58,900 23,000

Jl234l 55,900 58,900 A 3,000

JI23Hl 55,900 58,900 A 3,000

201 LBH2d| 29,500 30,500 A 1,000

01 At 2t 2l 24,500 24,500 0
At 2tel 24,500
- YBt=ZH| 21,000
- =gl 3,500

02 =24l 5,000 6,000 A 1,000
M2 AL & 35322 5,000

202 O4dl 20,400 20,400 0

01 = LHA YI 20,400 20,400 0
FA2E SUHAEL 20,400

203 R =&l 6,000 8,000 A 2,000

03 A FXH R =ZH| 3,000 5,000 A 2,000
NBETAREZ 3,000

04 BENSSIHRF=EHI 3,000 3,000 0
FARILRFA 250,000& »12& 3,000




